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Build an arrow road from 0 to 123 using +100, +10, and
+1 arrows.

123

+100 °

+10
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Complete this addition table.
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Complete this subtraction table.
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Label the dots.

13

133

+10



Color one-half of each shape red.

Color one-third of each shape blue.




Label the dots. Draw all the missing +1 (red) arrows.
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Put these numbers on the Minicomputer using one positive
and one negative checker for each.

= 3 -6
- 30 = 16
=70 - 32

Put any number you like on the Minicomputer using one
positive and one negative checker.




Build an arrow road from 81 to 47 using —10 and —1 arrows.
Fill in the box for the gray arrow.

Write a calculation shown by the gray arrow.
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Complete.

®
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0 X 9 =

0 X 20 =

0 % I4 =

on25=




Label the dots. Fill in the box for each gray arrow.
52

Write a calculation shown by the gray arrow.

=10 —6

4

—[]

Write a calculation shown by the gray arrow.
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Five children are playing a game. They record their scores
with tally marks.

Gary Emanuel Dawn Melodie Otis
R T HHT R T HHT R T
AT T A T T AT AT T
il S T AT

List the children in order from lowest score to highest score.

Lowest Highest
Suppose the children play with two teams, boys (Gary,
Emanuel, Otis) and girls (Dawn, Melodie).

What is the score of the boy’s team?
What is the score of the girl's team?

Otis has to leave the game and wants to share his points
equally among the other four players. How many points
should he give to each other person?
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Build an arrow road from 0 to 32 using 10x and +1 arrows.

o [02
+]
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Ling is a secret number.
Ling is in this arrow picture.

+3

996

Ling can be put on this Minicomputer by taking off exactly
one checker.

Who is Ling?
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Show a way to have each amount of money in change.
Many solutions are possible. One is done for you.

Quarters

Dimes

Nickels

Pennies

Total
Amount

t6¢

17¢

65¢

$1.00

$0.39

$0.9l
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Label the dots.

28 Zx

30 32
34
2 X|5=____ 2xX|7T=____ 2%xX[9=____
28 +2=__  32+2=__ 38+2=____
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One Lunch

2
4
7
12
3

slices bread
slices ham
carrot sticks
chips
cookies

How much of each ingredient do you need to make:

Three Lunches

slices bread
slices ham
carrot sticks
chips
cookies

Five Lunches

slices bread
slices ham
carrot sticks
chips
cookies

Ten Lunches

slices bread
slices ham
carrot sticks
chips
cookies
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Zip is a secret number.

Zip can be put on this Minicomputer by adding one more
regular checker.

Zip could be : : , O

Zip is in this string picture.

Multiples of 3 Multiples of 4

Who is Zip?
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Put these numbers on the Minicomputer.

0 =

0.50 =

10.50 =

0.28 =

}.28 =
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Label the dots. Fill in the box for each gray arrow.

2 X

[ ]x

Use the pictures above to help with these calculations.

4 x |2 = 6x|5=

4 x 2] = 6x7 =
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Complete this addition table.

5

0

20

T+7=
0+8=__
0+3=__



Label the dots.
12

s
AN

4 x 9= 4 x5= ' x7=___
X 6=_ 4 x 3 = U x 2 =
4 x Y = Y x |0 = 4x0=__
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Label the dots.

|0%

22

+3

52



Complete these number sentences.

(7+8)x2 =
7+ (8x%2)=

8+ (7x2) =

(3% 5) -4 =
3% (5—14) =
(3x4) -5 =
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Help Nora find Sonja’s house by using these clues.

Cluel Sonja lives 4 blocks (taxi-distance) from Nora.

School

Nora’s
House

Clue 2 Sonja only has to walk 3 blocks to school.

Clue 3 Nora can get to Sonja’s house going in one

direction.
Label a dot for Sonja’s house.
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Find the area of each shape. Color a shape whose area
is 30 cm 2.

4 cm?
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Lisa buys two flags and spends exactly $5. Draw one string
around the prices of these two flags.

Bryce buys two books and spends exactly $8. Draw one
string around the prices of these two books.
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Build an arrow road from 0 to 503 using 10x and +1 arrows.

o
|0%
+

503
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Find the length of the red zigzag path.
Draw a blue zigzag path that is 16 cm long.

—

3cm

cm

16 cm
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Circle all the multiples of 8 in red.
Circle all the multiples of 9 in blue.
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What do you notice about your picture?

Are any numbers circled both red and blue?
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Laph is a secret number.
Laph is in this string picture.

Less than 100 Less than 130

What is the greatest whole number Laph could be?
What is the least whole number Laph could be?

Laph can be put on this Minicomputer by taking off exactly
one checker.

Who is Laph?
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Put in parentheses to get as small a number as possible.

5+3x2=

4 x4+ 6 =

Tx2—|=

8 -4 x2=

9+ 3x5 =
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Put the six number cards 6] in the spaces of this
subtraction problem. Use all the cards, each card once.

What is the greatest difference you can get?
Explain.

What is the least positive difference you can get?

Explain.

Can you get a difference between 300 and 4007
Explain.

Can you get a difference of 406?
Explain.
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